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GCSE Mathematics (Linear) 1380
Formulae: Foundation Tier

You must not write on this formulae page.
Anything you write on this formulae page will gain NO credit.

fe——a—-

Area of trapezium = 4 (a+ b)h

Volume of prism = area of cross section x length

.



} blank |
Answer ALL TWENTY EIGHT questions. '
]
Write your answers in the spaces provided. ‘
You must write down all stages in your working. l
|
T
1. (a) Write three pounds fifty pence in figures. ‘ }
[ |
B | ;
B e s .
(1) | |
(b) Write three pounds five pence in figures. |
- I
2 O3 ; |
> G Aol | |
1§ | i
1 a
(c) Write three thousand five hundred and ten pounds in figures. ? -
; 3,S10.00 |
---------------------------------------- !
(n Q@
i ;
(Total 3 marks) | _*
5 i
[
\
\
|

3

B



2. (a) Here is a right-angled triangle.

=

R

Mark the right angle with a letter R.

(b) Here is a trapezium.

[N

Mark an acute angle with a letter A.

(c) On the grid, draw a kite.

N

A

D

(1)

1)
(Total 3 marks)
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3. (a) The point O has been marked with a cross ( )X). ;
Draw a circle with radius 4 cm and centre O.
[
0
X
s i
| [
| |
% -
:
| ®
(b) Here is a circle centre C. I
\ Draw a diameter in the circle. P
i |
E C :
g
® Q@
(Total 2 marks) |
!
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Cinema tickets

Adult ticket: £8.65

Child ticket:  £4.90

Senior ticket: £5.85

Tony buys one child ticket and one senior ticket.

(a) Work out the total cost.

W9 F 5

28 = o5

@ | |
| Stephanie buys adult tickets only. :
| The total cost is £60.55 ' .
(b) How many adult tickets does she buy? lt f

LD S5 - | |

Fhg |

{ Kamala buys one adult ticket and two child tickets.
i She pays with a £20 note.
: (¢) How much change should she get?
n
20 - ( g (s +2a(w 19) )
| g = (R 3 WSS
f
| [« 58 |
i (Total 6 marks)
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5. The first even number is 2 ; T
| (a) Write down the 3rd even number.
G |
o
; Here are some patterns made from sticks. f
|
—_— L
| -
| | | .
|
Pattern number 1 Pattern number 2 Pattern number 3 | |

(b) Complete Pattern number 4 |
.
[ |
1 N
Pattern number 4 | |
@ |
(c) Complete the table. ; |
: Pattern number 1 2 3 4 5 l ‘
1 R — I 1
E Number of sticks 3 6 9 &% B i |
| @ |
f | |
{ Jenny wants to find the number of sticks in Pattern number 100 1 I
|
| (d) Write down a method she could use. i
: ) . P i |
| L AT !p tbern Aumber thew N b e )ffA srichsy = 2) N E ‘
. e Numbaer ’)(-\ skicRs = 3x Pattern Numbe~x «» NO f)i';\ ’ |
SticRa 1n pakbecn no. 1OD = 33X I0o = 300. (1) EQS
(Total 5 marks) | |
| | |
i ! !
| | |
| | |
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Peter recorded the colour of each sweet in the bag.

. There are only red, yellow, orange and green sweets in a bag.

The bar chart shows some information about his results.

14

12

Frequency
10

8 sweets were orange.
5 sweets were green.

(a) Complete the bar chart.

Red

Yellow

(b) Write down the number of red sweets.

(c) What colour sweet is the mode?

(d) Work out the total number of sweets in the bag.

L+ lo+% +S

]

Orange

Green

@
G
)
Y Qk k/)\ b
1)
S
(1)

(Total S marks)
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r | Leave |
; blank
| 7. Write down the name of each of these two 3-D shapes.
(1) (i)
o
/
/
I
|
| |
\
%
|
(1) PR a1 0 R (i1) C“DQNG(( ................... Q7 ,‘
} (Total 2 marks) | |
|
i 8. (a) Write down the fraction of this shape that is shaded. {
Give your fraction in its simplest form. ;
E - ?
|
| |
9 . 2 ;'
Sep— s |
- 3 |
s <N |
2)
(b) Shade % of this shape. :
G
LY |
= VAV 4y [
’ AN |
L 2 ‘ AN
- —— K ;l{ A .
o — |
(1)
o D : s e WD) 3
Write — as a decimal. & =D
R T 2. |
(1) |
|
d) Write 0.39 as a fraction. .3 9 X 122 , |
@ 210 955 39 |
| 2 9 LG - |
| ~ oo 1 Q8 |
(Total 5 marks) | | |
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9. (a) Measure, in centimetres, the length of the line 4B. ' '

A X | B

)

(b) Mark the midpoint of the line 4B with a cross ( ).

m Q|

(Total 2 marks) I |

10. Sarah works in a post office.
She recorded the number of parcels posted on each of 16 days.

Here are her results.

2 2 5 5 2 4 2 2
3 6 - 6 2 2 3 3

(a) Complete the frequency table to show Sarah’s results.

Number of parcels Tally Frequency
2 THHL e
3 ARy Lt
4 i 2
5 | |
6 I 2 |
@ |
(b) Write down the mode.
Mode s the mOSt (requinbly accurning. S
(1)
(c) Work out the range.
Hax no. of paccels — minimum no- of I S ]
poceels = L — A = 4 @ Qo
(Total 5 marks) | | |
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11. You can use this rule to work out the cost, in pounds, of hiring a carpet cleaner. R
Multiply the number of days hire by 6
Add 4 to your answer
Jill hires the carpet cleaner for 3 days.
(a) Work out the cost.
LR = 18+ = A
?
]}
£. A% .
(2)
Carlos hires the carpet cleaner. l
The cost is £52
(b) Work out for how many days Carlos hires the carpet cleaner. : |
| .-
L ek A rg,.()(@\,'_ﬁ.(w\k‘ the na. of CL@LTB:S' hire . E ‘r
| | |
. Tolal Cott = bd + o ‘
| |
=> &) = (d=% & ; | :
e SHS - Wo.. § : |
T ¢ G
|
................. %} days
@ ou
(Total S marks) | ‘
| |
|
| L
11 ‘
N0 A 0 -

Turn over |



12. (a) ||11| ||||I||T|||||:T—l||:||||l
20 30 40 50
Write down the number marked by the arrow.
..... 33
)
(b) ||||||||||||||||||||||||:|'
100 T 200 300 400
Write down the number marked by the arrow.
@
© ’IIIIJIIIIIII!III|!|II’I]II|
N
0 25 50 75 100 l 125 150
Find the number 110 on the number line.
Mark it with an arrow ( 7).
)
(d) ’|||1|1|||||||||1||||||]|,|\||
0 0.1 0.2 ] 0.3
Find the number 0.27 on the number line.
Mark it with an arrow ( T ).
1)

(Total 4 marks)
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13. |
18 42 |
9
3
12
6 81
11 30
From the numbers in the rectangle,
(i) write down a multiple of 4,
..... 2
(i1)) write down a factor of 21,
....... 3 |
(iii) write down a prime number.
| Prime murber skt 2,35, %, 11,08, 19 | | fQB
(Total 3 marks) | |
O A



=

14. (a) Shade one more square to make a pattern with 1 line of symmetry.

(b) Shade one more square to make a pattern with rotational symmetry

N

(1)

of order 2

{1

(Total 2 marks)
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15. 36 students each went to one revision class.
1 : ..
— of the students went to the physics revision class.
% of the students went to the biology revision class.
All of the other students went to the chemistry revision class.
How many students went to the chemistry revision class?
" o s ; g i iy : _
=== > will gve us tre Fratbion off Shudents
vaho e 1‘\( ko ‘\Uﬁc & !\0 MLy \i) A “'a';l (670 N & {0\(-“' o
. = 2K b
_ a4 o § o = 2B e ek
“; + _;‘_ - }_'_____’________ st | g G\f\o( ; i g | g | 8
6 9 (8
- NI < ¥ (VR N
s -l l. . {‘_.,J,.\C\](\S) % 2 | 3L 55 4\3»\\:;, o
| €
Jat = |\ = l 1 (; |
X 36 Vil
l A = EEEES Cl Dl ........................... Q15
|
|
(Total 3 marks) |
,i
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16. The table gives information about the numbers of fish in a lake.

-d{ -Leave

’ blank

\
)
|
|
|

|

!

|

Fish Frequency A ;\F)t < i

5 Perch 10 L‘jf * 30 = 557 f ;
23 " > ) 2 | |

Bream 23 7k 30 = NS |

T - |

Carp 39 %—_?f 3o =148 ;

" i

Draw an accurate pie chart to show this information. ? I

i

1 ‘
|

s !
| |
|

|
% | |
s f =
| J i
| -
i j ;
-
\ f :
| | |
f \ !
| | |
| .
| | |
| ]
L | }
‘r Q16 |
‘ ] |
(Total 4 marks) E
]
| | |
| | |
| |
i l :‘
i ! i
| -
! | |
|
| |
| ]

.



- e
17. Here is a cuboid. ﬂ plenk ,
i Diagram NOT | ‘r

E accurately drawn 1

f | 6.5cm
Jcm

: / |
+— 45cm —» |
|
Calculate the volume of the cuboid.

vz | x vw x h
- S F Pr?"g Cr ‘\‘ﬁ ............ \:)dh ......... () ..... cm3 Eg?’ ‘
(Total 2 marks) [ -

|

18. F=18C+32 ,

(a) Work out the value of ¥ when C = -8
F= ba(~8)+ 32 =186 |
L
(2) |
(b) Work out the value of C when F'= 68 | :
= |-8C + 32 i |
=> C = =32 = (8-32 | 90 ' |
R L% |
| I
| ?
2
5 on
(Total 4 marks) ! [
17
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19. Use ruler and compasses to construct the bisector of this angle. ‘
You must show all your construction lines.

Q19

(Total 2 marks) |
20. Tania went to Italy.
She changed £325 into euros (€).
The exchange rate was £1 = €1.68

(a) Change £325 into euros (€).

295 % 1-6%

When she came home she changed €117 into pounds.
The new exchange rate was £1 = €1.50

(b) Change €117 into pounds.

7
il

5 o
| 22

@ Q20

(Total 4 marks)
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21. The scatter graph shows information about eight sheep.
It shows the height and the length of each sheep.
A
130 f+ — . A
JH-T - H
120 ‘NG U YL L | B s !
Length (cm) SR » _ w
| j 1] Ealn
110 : : e S
1 = | ‘ ‘ : o 49 ]
| 1] [
. ' A7 [}
100 TR I
EEEE B e
LT T 3
90 X H-H .
80 H-H
P 1] B O O P (|
70 [ [ ] | | | \ | | >
50 55 60 65 70 75 80 85
Height (cm)
The table gives the height and the length of two more sheep.
Height (cm) 65 80
Length (cm) 100 110
(a) On the scatter graph, plot the information from the table.
(1)
(b) Describe the relationship between the height and the length of these sheep.
Posgitive cor n{.kai‘( 2\
1)
The height of a sheep is 76 cm.
(c) Estimate the length of this sheep.
|)K ......... cm
@ Q2
(Total 4 marks)
19
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(a) On the grid, draw an enlargement, scale factor 2, of the shaded shape.

@)

blank

20
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blank
y A
et 3 s
A 7 B
-5 4 3 2 41 0 ) 3 1 5 "x
=1
=2
(b) Describe fully the single transformation that maps triangle A onto triangle B.
A.reflackon aboue the Une 2= 0 (I e they-axis )
@ Q2
(Total 4 marks) |
23. (a) Simplify m+m+m+m
o s i
(1)
(b) Simplify pxgx4
L "
(1)
(c) Expand 5(3x-2)
e W
i 15- 10
1)
(d) Expand 3y(y+4)
33(\3)4— (”%\QKH> = 3314’ {'7—-‘3 Bb?. 2 .'ij
(Total 5 marks) |
_ |
21
00 O
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. There are some sweets in a bag.

18 of the sweets are toffees.
12 of the sweets are mints.

(a) Write down the ratio of the number of toffees to the number of mints.
Give your ratio in its simplest form.

2% |1 3
20

There are some oranges and apples in a box.
The total number of oranges and apples is 54
The ratio of the number of oranges to the number of apples is 1 : 5

(b) Work out the number of apples in the box.

I+ < 6

. 3 . % ’/\_ 2 ; N 1) I e | . ,\; Lfr\ e}
;"q \l‘d,f(‘.‘\ﬂ_{:]\fﬁ [\3‘ Nahe u-\(\t ke i Ll on >4 tha kC)LC*-\. L sl &

— s 25

2@ L5 LS £AVN O S = £
C-\l)lj L 4%\ J ~—i g g___ ()
And SofF gy = SHx = AXET s
L, ¢ TR % e
@ o
(Total 4 marks)
| |
|
|
L
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|

E

! i

27. (a) Work out M -i
3.2* -6.51 ;

i

Write down all the numbers on your calculator display. s

}

T RE |

— = J

,—3 ) 7_2.,_- {) _l')’ ! b - - T ;

< % 4. 9L SHISSS |
2) !

|

(b) Give your answer to part (a) correct to 1 significant figure ’

M

(Total 3 marks) | | |

28. Here is a tile in the shape of a semicircle. ‘
Diagram NOT i

accurately drawn ;

|

|

+— 8em ————» | l‘

| 1

-

The diameter of the semicircle is 8 cm. i
|

Work out the perimeter of the tile. "
Give your answer correct to 2 decimal places. \
L

B T g W ( S ) |
‘ i

it ‘—? 4 i: " a0 % ! :

]

I

|

-

D\LD 7 B -+ Qgs !

(Total 3 marks) | !

TOTAL FOR PAPER: 100 MARKS
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